STANDARD ACCESSORIES LIST (1) Barundan

MODEL : - BEXS-HLCLZ1102 800X 800X850/850

| C901082
A010123 ¢ SPACER WSRB-4-0.5 AN -4 MSRB-4-0.5) 10
ASO14167 O-RING(sSoes) . Oysssees o 10
F7TGS0124 | NIPPLE ORIGIN POSITIONING JIG =7 Wy 757y 5" L~ [
FriGso1zs ZIGZAG ORIGIN POINT JIG Rz N T
FA999021 | RADIO PINCER wANGE L |
FA999022 SPANNER SET . At o [
FA999023 ~_  MACHINE DRIVER  Sobsv- T
FA99024 | NEEDLE CLAMP SCREW DRIVER MM [
FA999025 | PLUS DRIVER NO.1 ~ 7;absnv-No.t [
FA999026 HEX DRIVER SET . Wpdbodn-tyb [
FA999027 ~ HEXK WRENCH SET . WMbFeyb 1
FNO70011RG NEEDLE DBXK5 11RG M) DBXKS 1IRG 0
HB220071 | DEAD POINT GAUGE FOR KHST2HOOK W7y -y KHS12 (Ngvaee2bt) [
HT230560C | NEEDLE BAR DRIVER RETURN SPRING =~ NI& 095852y 5
HT240004 CHECK SPRING AN aom oo 5
HV270310 COUNTER BLADE MK-6 R2 ITAAMKeR2) [
Hv270340 DRIVE KNIFE MK-6 R2 ~ MosaMkeRa) 1
KF220530 BOBBIN WITH KNURL ON AXLE Aey@oky) 0
KF221020 | BOBBIN CASE 4B19-S6-BA At sh-2 419-S6-BA 10
KF221091 DLC ECCENTRIC HOOK KHS12-RYPOEBW3ICC _~»5/DLCA? KHS12-RYPOEBW3ICC 2
Kr23z130  ORING Oy (1B-AS568-902)C03091B 15
KF250900 ¢ SCREW FOR THROAT PLATE SET N49hA45" (SMT1/64 $340X7) 2
KFr20120  BOBBIN DRIVER AeorsN-- o [
KFr20130 roeox o . wwN3a o 1
KF730500 _  TRUSS SCREW SM11/64 X 10.5 ~ boago SWii/e4xto.5 0
KL270101 ~ THREAD AWAY HOOK ~ o4z (3
KX230152 ] TAKE UP LEVER ASSY NO. 5543 e b
MK230040 TAKE UP LEVER ey o 5
RH230460 | NEEDLE CLAMP SCREW NYHE ONLY MRS I N
RH230540 ~~~ NEEDLE BAR DRIVER {\')it\l‘?ﬂ?i . B
RR790010  EMBROIDERY SAWPLE YN AN 25 N Wy TN 1
wp230100 ! NEEDLE BAR DRIVER ~ Myt oo 5
wp230120 | NEEDLE BAR DRIVER RETURN SPRING MUK 955%)5-727° U5 (HL) 5
WD230181 ~  MACHINE SCREW SM1/8X44x2.4L RITYYEbIRS (SM/BKYRAdX2. L) 12
Wp230190C | _ NEEDLE BAR DRIVE SPRING ME9INONRHD 5
WD230350C NIPPLE DRIVE SPRING LOWER ~ ZyZmbovaes®l) >
WD230510C ~ DRIVE SPRING FOR ZIGZAG STITCH hwsboNatbL) oo 5>
WD230590C  TAKE UP LEVER CANCEL SPRING T kRN AR Sy
Wp720000 THREADING TAPE 1477-7" (| S S

| _277180360280102
A012486 BUTTON BOLT M3X5 FOR TAPE GUIDE FTHANK MRS 12
A9012487  BUTTON BOLT M3X4 FOR PRESSER FOOT  3/#%I& 574" WM3X4_ .
A9012496  SET SCREW M3X3 FOR ZIGZAG GUIDE ~ FFU# 4} FA%5 M3X4E%% I
AS0T4183  ANTI-VIBRATION UNIT & 902N 5% 951y (BU-T000BD) 4
A0190%0 | PARTS CASE EASO8KE-9 N -J7-AEASO8KE-S (121) [
A9019109 ADJUST BT D-B12-150 77 ¥AMBT D-B12-150 6
A9060063 MICRO SENSOR EE-SX672A 772°3J 971he4omeyy- EE-SK672A [
A9064006 SWITCH (OMRON D2MC-0TEL) _ DAMORERGF (b0 DMC-O1EL) [
HB720070 BEARINGOIL (TLTR NTYAkG 1

* Ea—XEy M BEORSAN-KRYIRDLIZRICANT, F—TTLHTHYET,
FUSE SET IS PACKED IN PLASTIC BAG AND FIXED BY TAPE ON THE MACHINE'S DRIVER BOX.

* —RB-NLHT5T7 - Uy TRIEMOLICEY FERTWET,
PANTOGRAPH/PORTAL FRAME/CLIPS ARE SET ON THE MACHINE.


aschreiner

aschreiner

aschreiner

aschreiner

aschreiner


STANDARD ACCESSORIES LIST (1) 6@);;\&%

MODEL :  BEXS-HLCLZ1102 800X 800X850/850

| _Z77180360280102.
HB720080 | BEARING OILER 770 1
HD262950 ~ TAPE BOBBIN #66 ItZ meseevd o 4
hp120030 | BASE PLATE (200200xT1) ~ A N -A7b-b o (200X200XT1) A
KF720040  MACHINE OIL POT L SHAPE NOZZLE NN |-
KFr20110 CSEWNG OILGIL) o Wi () 1
GL140040 TABLE SUPPORTBAR L e X2 Y 6
qL140050 TABLE SUPPORT BASE PLATE 7Y MR- RS- 6
RR720021 ~ MOUNT SET BELOW DEPTH 850 WM Faohvgsbeoh (HBS0SvR9) [
V210060 THREAD KEEP SPRING AMwNR 4
sveroods oo NASME 2.
svaroteo NEEDLE PLATE FOR CHENILLE (1.6) NSOy Sk e 2
sv2tonio | NEEDLE PLATE FOR CHENILLE (1.8) N4 By Sx e 2.
Sv230080 | NIPPLE (.O) reaooooooooo oo 2.
sv230090 NIPPLE .U sy oo 2.
svasorio NIPPLE (.3) sy 2.
sva3onso | NEEDLEBAR &9 [
V60030 SWITCH ACTUATOR LEVER Mysrofal-y-bn- [
SV6s0040 LOOPER SWINGING LEVER SPRING A W=1" =57 300 VN =N FA L 1
SV650050 LOOPER SWINGING SPRING NNy 2.
svrz00t1 THREADING WIRE Ay S
Svra0030 0 CHENILLE PLATE ~  $§'57b-p [
SVr20041 ~ HEIGHT PLATE M- S T
WD660080  BOBBIN SPRINGBIG [y g/;\w 9 2
Wpeeooso BOBBIN SPRING SMALL AN ERE9) 2.
WD660250 ~ TRUSS SCREW SM11/64 X9 ~  psags SM11/64X9 2
WD660280  SCREW M3X3 FOR PRESSER FOOT ~ a/4f1armxs 6
WD66030A00 | CORD PRESSER ASSY ~ a-ba/#yrAssy 2.
WD66033A00  CORD GUIDE ASSEMBLY ~  0131-V }JwifleSfoY 77777777777777777777777 2
WD66034B000  TAPE GUIDE ASSEMBLY 0]7-]}1 'H:ASSY Y
wpee43r . . & U -pvs-vk220-240 T
WD660812 ~ COILING ATTACHMENT STANDARD ACCESSOR  ¥4743FAv/h 'Qlf/tfjt 777777777777777777777777777 2
WD660950 ~ TAPE & CODE GUIDE-WIDE (HL) 774 AN wo -2
263880 NEEDLE SCHMETS CEX3 #90 ! N ity CEX3#90 4
WW263890 __ NEEDLE SCHMETS CEX3 #100 MY »afyy CEX3 #100 4
WW263900  NEEDLE SCHMETS CEX3 #110 o Mty X3 M0 4
NA THREAD_STAND SET . RUTwWh@ -JmbzsT) -

* bEa—XtybE BHRORSAN-KRYIRDEICRICIANT, T—TTEHTHYET,
FUSE SET IS PACKED IN PLASTIC BAG AND FIXED BY TAPE ON THE MACHINE'S DRIVER BOX.

* —FR-NDETST - OV TEBHOLICEY RENTWET,
PANTOGRAPH/PORTAL FRAME/CLIPS ARE SET ON THE MACHINE.


aschreiner

aschreiner

aschreiner

aschreiner


STANDARD ACCESSORIES LIST (2) Baundan

MODEL: BEXS-HLCLZ1102 800X 800X850/850

97104022 BOBBIN WINDER BN-3D EXPORT AAEBN-SD () ] 1Pc.
FRIOIS0A  BROWN ROUND FRAME W/0 BASE 15CM 9¥9) FR3sty ASem ! 4 Pes.
FR10190A _ BROWN ROUND FRAME W/0 BASE 19CM 9%9) $e3fY 9em A 4 Pes.
FRI0250A ________BROWN ROUND FRAME 25 CM WITHOUT BASE 979) 433fY 25em _____APes.
_FR75330338H450A __ MAGNET TYPE ONE TOUCH FRAME ASSY 330 0" 37h9%9599775 (330X338 HA5039 4 Pcs.
_FR75460434H450 __ MAGNET TYPE ONE TOUCH FRAME ASSY 460 0" 27h94959977) (460X434 HA5039 4 Pcs.
FR930021 __ SPIDER INNER FRAME 15 CM MVAY -9F9) ASCM 2 Pes.
_FR930330 ________SPIDER MID. INTERCHANGE FRAME 19 M AVAY faghyyp 190M 2 Pos.
FR930770 ~___ DOUBLE SPIDER FRAME ASSY 25CM FOR H= 5777 bR 45" -0)ASSY (25CM HT50) 2 Pes.
WE730200 ~ ____SPRING FIXING BRACKET ASSY (HLCL) A7 UYY 3747 ShyRASSYSOHLOL) 2 Pos.
WE730210 ____ MAGNET FIXING BRACKET ASSY (HLCL) W A9h3747 FhyMASSYSOGHLCL) 2 Pos.
_QM670240H02 _ _ STANDARD ACCESSORIES SET FOR TSQV3 2 TSQV3E §avkyk Gy mEs~9b ] 1Pc.
FZ10905  TSQV3 INSTRUCTION MANUAL (ENGLISH) TSQV3 MPREIMYa () ] 1Pc.
FZ10V20  INSTRUCTION MANUAL (CD) XS/XT/USBR1O bY7Ih{2I4473 (CD) XS/XT/USBR10O 1 1Pc.
FZI0LO1Q _ QUICK REFERENCE GUIDE FOR BEXS/XY EN MopUVoAn AN XS/XYE ] 1Pc.
FZOWP30 PARTS LIST BEXS/XY-HLZ/CLZ N -9Yab BEXS/XY-HLZ/CLZ 1Pc

(BSM200R3)



aschreiner

aschreiner

aschreiner


